bk £ KFIE 2018 £ LA XA S FBUR N

GhBBH L
B &R

FEREN: 1. 2w E LA L, Ba, HiEhE LI ERE»HKE (365, 364, 3354):
=90 5 (150 41):; EFREL B FLFE—L=504%, F=4=60 4.
2. AR FIR: B A @ELE -4, EHoXIBERMKE, MEEAES H.

AT
FBRBEM: 1. 5T aFLaIAm L, BE, MEREpRIBEsH#& (364, 364, 335 4);
FiR=90 4 (150 %) EREL R ELF—L=504%, F=46=60 %5,

2. AT SARTCELE L, RPN BRSHK, SMEEAES

o

FRIRFR

RBBEN: #BE, SMizfEnR BB RoHE& (364, 364, 3354);
AL BANEE. ﬁ . ®IREA=90 5 (150 541 ;
R G E5=536 4, £RL=60 4 ;

ERER

FTBRN: 1. AF: BUE. Mg R BR,HKE (34 4, 34 4, 260 4°); H LR w45
SEERF @R KBS (T LRR G E S A ERAL W sl AT a9 B A),
IR R GRS =373 5

2. M HAXNFE: Bos, MERESERIER,HE (34 4, 34 4, 260 4°); F IR
BESEWR G AR FE T @A KAER (FLRRRGESAEAL R, sk, TR
ﬁé’awvﬁn £ iR R G E =358 4.

FEMNKRE: B, NERESRBBERHK (34 40, 34 4, 260 52); HLiRmR
@a%ﬁﬂ AMF T @A KR (FLRERGESHERLR, N EHRLE, T
%uﬁ%Mﬁr %ﬂ%ﬁ%a%>%0A

FEMK: B, NERESRIE R K (34 9, 34 4, 255 4); HALiR AT
@%Eﬂ%l%ﬁﬁﬁkﬁ§(%k%ﬁ%&%ﬁ% A, NxERAs, UL
e ), F kiR S E 5 =380 4

5. ER&H: BUE, MERESERIERSHKE (36 4, 36 4, 335 4); HRARG
”Aﬁc*uﬁﬁﬁﬁkﬁﬁ(?k%ﬁ%&%ﬁ% A, XA A, TR
EAe), & LIR G5 5 =380 5

Bt FR
FERBRN: FREN: BUE, MEREpRIER,#% (36 %, 364, 335%9);

b % G B =80T £ 38 50%+i% Gt AR Ak 50%+E dk % it + @R, 3 H 150 H5H i A
0M-13# R @ : L LRERGEHS =378 0 145 R T @ : + LFERGEH =378 5 ;
15 #F 5 7rm: FiR ARGS9 =393 4 16 #F T m: F iR R4 % 4 =372
17 R T e H LR &9 =396 45 18 AT : H iR mbr 8 5 =420 4
19 R T ®: FLRRGTES =381 4 20 AR T & F LRG0 E 5 =401

B = 1

21 T EWRREGTE =378 4y 22 KT we: HiER G EH»=37

\

\



W T F IR

FERBR: SHAHQELAA L, Hob, ShiEdraIBEIHE (3649, 3 ;
FRR=90 5 (150 5#1); FhKb:F LT @HF— 529045, H=5=>100% (150
2D

AXF %

FREN: BGe., hiEfb ok BESKE (3645, 364, 33549), M4 =335%9 (AR5
S E TR FPERERL, RERL, EREZ B SHTAN, BEUE, SMES S ARMm
MIR), EREARG =60 2 @IX=80 5.

(o))
¥
w
w
(&)
A
~

LREEZEHFTFKE

FRBN: BE=36 4%, hiE=46 %, BRES=335 9 "G EH=335 90 (RGE»ITH Tk
FEERE, #RERL. EREZETHFTAN, 5B, MiEsFAAmMR), F LR
BARGE =60 2 @IXR=T5 5

A5 AT

RBBR: BUE, SMEAER BB B R pH% (3649, 362, 3359);
%2R =90 /60 5 (150 #1/1
H P02, 07 77 e & KKk =50 5

=, ETRqRHXR
V& RAEF TR

FEEN: BEREN=245 %, BiE=34 4 RiE=50 5

1. P E&F, ERFR

IhiE =30 4, ER L =50 5

F iR (BRFFAmiXAE) =90 2 (150 241D,

2. RBERFR

INiE=34 5, ER LR =50 4

WA BAET . AIME TR, @IXEA =90 5 (150 %1) , kiR RS E 5 =536 5.
3. it 1L

ShiE=34 4, FALIR=90 4 (150 041D, HakE =348 4
4. W IE

IhiE =34 5y FLR =90 4 (150 45F1), Fl =90 4, HbE45=368 4 ;
5. AXLFR, TREZEHKF FIX

ShiE=34 2y FRIRFARG =60 2, RHTE S =320 5

B KRFAELKITR]
FEREN: 1. FEEFE
BUg, hiERE R BB RyH& (364, 364, 335 4);
F iR =90 4 (150 9#)), ERFL =60 4, F kR4 =530,
2. AR F IR
Bi5=36 4, ME=36 4%, BREHS=315 %9 FLE55=327 5. T LiE=90
(150 %)) ; HdFi8=60 4 (150 24D,



AR & Lol

FERAN: it Fm
Bg, hiEfe R ok BB Kok (3645, 364, 335 4);
F 3R =90 4 (150 541D ; F b E45=381 4

=, BREH. BFAE
N N N

FREN: 1. PEBFR, ERAFE

IhiE =36 5 ERFR=60 45 FLiER=90 4 (150 541D,

2. FRERFIR
INiE =36 4 EARX =29 4 AL BAET. AMEST R, @IXEA=90 4 (150
S, F AR ARG E =536 4.

3. EHFER
IhiE =36 43 FIIR=90 4 (150 941D

4. TRELEHF SR
INiE=46 5, REES =198 5 (BRGESHHE Tk PEERL, #RERL,
EREEBIFITN, HBCE. SMHESHARMAR)

Bya
FEBRM: 1. vE&FR, ERFR, HtFR
kR =90 2 (150 21D
2. KRBT RFR
A BAET . AMET R, @XEA=90 2 (150 541),
F LR ARG E =536 5.

TREXFRBAEL
2018 %3 A 28 H



